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Re-Imagination of learning
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Read each gquestion, and circle the correct answer.

1. Eight Thousands is equal to Hundreds.

A. 80 B. 8 C. 100

2. Two hundred three in expanded form is written as _

A. 200+100+300 B. 100 + 100 + 3 C.200+0+ 3

3. 4000 + 1 + 80 + 800 in numbers is written as

A. 4681 B. 4186 C. 4861

4. The number closest fo 40 using digits 3,9 can be written as

A. 30 + 90 B. 30 + 9 C. 3 + 90

5. There are 617 students in a school. If out of them seven were absent, how many of
them were present?

A. 600+ 1 + 0 B. 600 + 100 + O C. 600 + 10 + 0

6. Which number is the expanded form of five thousand two hundred sixty-nine.

A. 5,000 + 269 B. 5000 + 200 + 60 + 9 C. Both a and b
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